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[mmH20] H [Pa] 1 2 [kg/m] PD* = 215 [kg x m]
9801 300 Ta2p 160 KW )
3601 9000 1105 \
860-| 8900 i
8501 8200 \ Y
S804 7800 6 X
7404 7400 P~
700 298
£987 e U
640- 40 I
eio] 810 55 X I
8507 5500 A N TNVAROYE
3501 5200 45 N
4904 4300 ] IA\VIES
280 4600 = DON RPM
4304 4300 A\ 1650
400 2000 30 N AV WA
370 8700 \ N
340- 3400 — } 1480
| 3100 2 101 dB(A)
3481 Za00 — - N JAVAY "
5704 2700 1 \ NS 1300
5504 2500 = RN 1Y
2304 2300 15 Ny 1
3507 190 = SN 1120
1704 148 9 1 1
1381 125 ~ \N o
1264 13 j 900
1021 19 N 820
gg, 8 86 735
25 35 445555 6575 1011.5 14 16 1820 23 2629 33 37 42 47 Q[m’/s]
Q[m%h]x1000 _8 9 10 12 14 16 1820 23 26 29 33 37 42 47 53 59 66 74 83 93 106 123 143166
V[mS] 4 45555 6575 9 14 19 24 29 34 39 4449 59 69

Hd[Pa] 5 6 789 11 14 18 24 30 38 48 6074 92 120 162 218 294 396 532 716 962 1352 1986 291

6

Hd [mmH20] 0.57 0.811.14 1.62 2.28 33.78 5.16.6 8.7 11.7 16.5 23.4 33 42 54 69 87 114 156 210 285

= 1120 [mm] GF/RU1120
[mmH20] H[Pa] 1 2 [kg/m] PD® = 150 [kg x m7]

8701 819 L=F90fT1105 782 kw \\
290 7900 N |
7281 7500 R \ \
7304 7100 NG
700
gro- 8790 5 N
640- 8400 — \Y
6104 8100 5
580- 2800 N
280 5500 N
520+ 5200 373 AYA
200 4900 AN
460- 4600 30— T~
430 4300 ™
400 4000 =
3704 3700 N S \\ \\\
340 3400 = !
350 3200 18 AN WANE/IAY
3004 3000 + = TN
280-{ 2800 15< T 1N
260- 2600 = 7 T )
240- 2400 =i ERNAR
5004 2200 RS NN E
200- 2000 9 SN AR AV
785 1830 = = N
170- 1700 =7 ~. SNAN)
1887 1335 A At
125 s . N
125
132 1488 e A N NN
100 ;
831 82 %
797 750

24 283236444 52 6.8 8.8 10 11.613.6 16 18 2022.82629.6 34 38 42

Q[m*/h]x1000 7.8 94 {112.6 15 17.4 20.6 24.6 29.4 35 3943 49.458.2 67 7583 95107123 143
v[m/s] 4 455556 7 8 9 14 19 24 29 34 39 444954 64
Hd [Pa] 89 1 1417 22 7834 42 52 6478 96 122 162 214 282 372 492 650 858 1180 1690 2420

Hd [mmH20] 0.87 1:21.592.12.73.57 4.8 67.2 9 11.4 1519.5 2733 425163 78 96 123 165219 291

= 1400 [mm] GF/RU1400
[mmH20] H[Pa] 12 kg/m] PD* - 380 [kg x ]
830 8400 [160pse] 200 K\ !
9004 2900 3 \
8501 800 RN \
1 7800————tHH—11o——=> SN\ T
;38, ;300 Iy AV J\F
091 988 90 -
640 6400 s AN NN
6104 610 5Y SR NAN |
2407 ssar - ]
9501 2300 A NAWARY
2501 5200 - NN
2601 4900 > Any
4801 4600 N
430- 4300 5 \
400- 4000 Y < ‘
301 Sioo ! N ]
340
3181 3389 = S \)i( N e e
590- 2900 > N N
3181 5100 = NS 199
5301 2300 185 O VAR
2101 2100 i SR g
1904 1900 ek
1701 1488 11 B AT, YRNANE]
1337 1480 A
1421 1310 e
1121 1388 TNy o!
1021 19 ; )
81 i ] I
3.6 424854666 7.8 10.2 12 13.816.2 19.2 22.8 27 3034.23944.4 51 5763

Q[m*h]x1000_12.5 155 18.5 23 26 293236.5 44 5056 62 71 8089 98 113 131 152 176 203
v[m/s]___ 4455556 7 8 9 14 19 24 29 34 39 444954 64
Hd [Pa] 789 11 1417 22 2834 42 52 64 78 96 122 162 214 282 372 492 650 858 1180 1690 2420

Hd [mmH20]0.781.08 1.51.98 2.73.57 4.8 67.2 911.4 1519.5 2733 42 51 63 78 96 123 165 219 291

RPM
1800

1480
1300

1120

980
900

800
Q[m?s]

RPM
1480

1300

1120

900
820
735

650,
Qms]



